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1.1 (2x)(3x)
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12 (=x)(-y)

1.3 (9xy)(3)

1.4 %x](sz)

15 (=2xy)(-y)

1.6 (0)(12xz?)

1.7 (10x%y)(=6xy?)



Jnuanasuluusiaydasielull
21 6(5x+2)

22 =(4x+6)

23 x(x-1)

24  (=7x)(-8x+9)

25 (9x)(x* +2x-3)

26 (=7x*+10x)(—x?)

27 (2x° —x+6)(=3x)

2.8 (8X)(—6x> +5x* —11x)



nuanaasuluusazdeseluil (daud@nisuanuag)

3.1 (X+2)(x+3)
ad o X+2)(x+3) = (X+2)-x+(x+2)-3

32 (x=3)(x+1)

33 (Xx+4)(2x+1)

34  (X*-3x+2)(x+5)

nuanvasnsluusazdeseluil (438amnszane)

a1 (x-2)(3x+2)
511 W (X=2)(3x+2) = 6x’+2x-6x-4

................................................................................ 6X2—4X—4

42 (X +2x+1)(x-3)

43  (X=D(X*+x+1)

4.4  (2x*+3x-4)(3x* —5x+2)



